
 

20
17

 / 0
2

320.000.799.00 

Rolly Toys Italiana S.R.L. 
Via Colonna 9 
I-31025 St. Lucia di Piave

From the date of purchase + 
guaranteed spare part service 

The warranty does not cover dammages 
caused by improper use or neglect

days
warranty180

---NORTH & SOUTH AMERICA only---

----------------------------------------

For questions, please call our 
North American Distibutor
Kettler® international Inc.
phone: 888.253.8853
fax: 888.222.9333
email: toys@kettlerusa.com 

made in Italy

Franz Schneider GmbH & Co KG  
Siemensstr. 13-19 
D-96 465 · Neustadt bei Coburg · Germany
Tel.: +49 (0) 95 68 / 856-0  
Fax.: +49 (0) 95 68 / 856-190 
www.rollytoys.com · e-mail: service@rollytoys.de

  WARNING
• CHOKING HAZARD - Small 

parts, Danger of being swallowed. 
Contains small parts in non 
assembled state. 
Must be assembled by adults.

• If toy is defective stop using it, 
repairs may only be carried  
out by adults.

• Adult supervision required.
• Never use near steps, slopes,  

driveways, hills, roadways, alleys  
or swimming pool areas.

• Always wear shoes.
• Never allow more than one rider.
• The use of protective gear  

and safety helmet is highly  
recommended.

• Conforms to the requirements of 
ASTM Standard Consumer Safety 
Specification on Toy Safety, F 963.

320 075 001 80

320 075 001 80

320 013 001 80

320 000 068 00

320 000 062 20

320 000 073 00

320 064 000 **
320 000 000 **

320 000 000 00

320 000 100 00

320 000 008 75 320 007 001 **

320 007 002 **

320 000 042 80

320 000 067 **

320 000 068 20

320 000 504 80

320 000 072 00

161 411 107 80

320 000 059 **

320 000 066 **

161 411 107 80

320 000 070 00

320 011 001 80

320 011 001 80

320 000 081 80

320 000 071 00

320 000 071 00

320 025 025 80

320 025 025 80

**
+10
+12
+13
+20
+33
+38
+41
+75
+76
+78
+80

J
P

P

P
P

P

P

P

P

P

P

S
RP

D

S

S
J

R

M
S

J

J

J

J

E

E

E

E

E

H

B

C
P

J

I
I

I

I

L

G
G

A

O

N

J

D

F

E

F

E

C

G

G

G

G

B

B

A

A

A

C

B

D

D

E

28x2,5x84

A

B

C

D

E

1x

1x

1x

2x

1x

14x1,4x54

14x1,4x50

10x1,2x44

10x1,5x17

mm
50403020100 60 70 80 90 100

(metrisch • metric)

320 000 000 00



320 000 100 00

320 000 000 **

1x

1x
M6 x 100

M12 x 110

M6 x 100

M12 x 110

B

1x

M6 x 80
M6 x 80C

1x

M6 x 65
M6 x 65D

5x

M6 x 55

M6 x 55E

1x

M5 x 30

M4 x 50H

2x

M5 x 35
M5 x 35

Ø 5 x 40

G

4x

4 x 40

I

M6J

M6

8x

M4M

M4

1x

M5

2x

M5L

Ø 60 Ø 48

M48

1x

N Ø 36 Ø 12

36 x12

1x
O Ø 18 Ø 6

ø18x ø6

12x
P

Ø12 Ø 6

ø12x ø6

2x
R

Ø 12 Ø 4

ø12x ø4

4x
SA

mm
50403020100 60 70 80 90 100

(metrisch • metric)

B

A

C

D

G

E

1x

2x

2x

1x

2x

4x

F 2x

4b

1x M6

P

Ø18 Ø6

J

1x

M6

3e

1x

M6

M6

J

1x
R

Ø12 Ø6

2b2a1b

A

1x 28 x 2,5 x 84

6b

1x 1x

M6 x 65

M6 x 65

D R

Ø12 Ø6

7a 8a7b 8b

P

Ø18 Ø61x1x

M6 x 55

E

M6 x 55

8b6c

1x

M6

M6

J

3a

B

2x

1c

N

1x Ø60 Ø48

A

1x

1x

1a

A O

1x 1xM12 x 110 Ø36 Ø12

A

1x

D

M6

M6

10d

J

1x

3b

1x M6 x 100

B
M6 x 100

14 x 1,4 x 54

B

1x

3d

M5

1x M4

5b

S

Ø12 Ø4

M

2x

2x

5a

2x

1x
S

Ø12 Ø42x

H

M4 x 50

M5 x 30

C

3c

P

Ø18 Ø6 10 x 1,5 x 171x
E

1x

9d

M6

M6

P J

Ø18 Ø61x 1x

9c 10c

P

Ø18 Ø61x1x

M6 x 55

E

M6 x 55

9a

2x
E

10a

2x
G

10b8c

1x M6

P

Ø18 Ø6

J

1x

M6

10x1,2x44

P

Ø18 Ø61x1x

M6 x 55

E

M6 x 55

9b

D

1x

4a

1x

M6 x 80

C

M6 x 80 14 x 1,4 x 50

C

1x

11c

P

Ø18 Ø61x1x

M6 x 55

E

M6 x 55

11a

2x
F

12b

P

Ø18 Ø61x1x

M6 x 55

E

M6 x 55

14a13a 13b

2x
I

Ø5 x 40

4 x 40

15a14b

2x
I

Ø5 x 40

4 x 40

15c11b

10 x 1,2 x 44

D

1x

6a

P

Ø18 Ø61x

12a

2x
G

12c

J

1x

M6

M6

P

Ø18 Ø61x

11d

P J

Ø18 Ø61x 1x

M6

M6

15b

L

M5 x 202x2x
G

M5 x 35

M5

M5 x 35


